thy Motora Company
Number (1800-2255269)

Motors Limited
Number (1800-2255269)

(AfterSales)



GST REG. NO : M2 - 0020081 - X

ESTIMATE

Estimate No. Date Estimated

: b1 55107

: 11/05/2020

Page No. : 1 of 5

45912

Prepared By

: Foong Shiuh Jye

- ESTIMATE REPAIR FOR

Ang Peng Seong (Hong Mingxiong)

554 Senja Road

20-258

EQ Insurance Company Limited 5 Maxwell Road, #17-00 Tower Block MND Complex

Singapore 670654

EGN. NO. MP3573E

CHASSIS NO.

REGN. DATE

MODEL

ACCOUNT -

Singapore 069110

MILEAGE

WBAJG120605N75254

24/09/2019

X1 sDrive18i

DESCRIPTION

To replace bumper rear cover and boot lid

To spray paint bumper rear cover and boot lid

To remove and install rear windscreen glass

To conduct water leak tests.

To replace bootlid smart opener control unit, top and bottom sensor lines including program and conduct checks for proper function.

To carry out body cavity preservation. (Per panel).

To remove old PDC assembly, replace damaged parts and reconnect to new bumper including conduct checks for proper function.

To check electrical wiring systems and lightings at the rear section for proper function.

Sundries.

0

1700 2,550.00

75.00

Total Labour 1:

6,488.00

DESCRIPTION			
	QTY	PRIC	VALUE
BLIND RIVET NUT MG Nec	4	2.70	10.80
RR BUMPER CARRIER ? XSVC MOUNTING SMART OPENER ? XSVC	1	1,236.65	1,236.65
MOUNTING SMART OPENER ? YSVC	1	496.35	496.35
RR BUMPER LH CORNER MOUNTING ? XSV	1	45.55	45.55
PR BUMPER DI CORNER MOUNTING . / 5	1	142.65	142.65
RR BUMPER RH CORNER MOUNTING 7, X5VC	1	142.65	142.65
REAR BUMPER PANEL PRIMED de	1	903.40	903.40
REAR BUMPER MIDDLE TRIM PANEL (PDC) SUR	1	265.65	265.65

erformance Motors Limited

(AfterSales)



GST REG. NO : M2 - 0020081 - X

ESTIMATE

Estimate No. Date Estimated

: b1 55107

: 11/05/2020 Foong Shiuh Jye Page No. : 2 of 5

REGN. NO.

SMP3573E

Prepared By

CHASSIS NO.

REGN. DATE

MILEAGE

WBAJG120605N75254

24/09/2019

X1 sDrive18i

0

DESCRIPTION EMBLEM GROMMET ** BMW PLAQUE WITH ADHESIVE FILM A LETTERING S DRIVE 181 New > LOCK TRUNK LID ? XSVC BOOT LID/TAILGATE PUSH BOTTON ICAM ? XIVE Lock plate ? XSVC SENSOR WIRE FOR SMART OPENER TOP 7 KIVL SENSOR WIRE FOR SMART OPENER BOTTOM 1 YSUC (DG/SL) W/SCREEN SEALANT (COLD 1 HOUR) New /

DTIN	PRUS	YEBOB
2	0.85	1.70
4	71.60	71.60
	96.65	96.65
1	64.45	64.45
4	229.10	229.10
1	48.65	48.65
4	12.40	12.40
	46.30	46.30
4	50.90	50.90
	131.55	263.10
2	131.33	
		4 420 EE

2020@1100 20000068

LKK Auto Consultants hence notify

the Repairer of the following:

Total Parts

- . To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- · Parts prices are subject to confirmation
- . Third party survey is on a "Without Prejudice" basis
- . No illegal modification(s) is allowed
- · Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

6,488.00 Labour 1 4,128.55 Parts Labour 2 0.00 Excess 0.00

Total GST @ 7% 743.16 Grand Total 11,359.71

THIS ESTIMATE IS VALID FOR A PERIOD OF 30 DAYS ONLY** PRICE FOR PARTS ARE SUBJECTED TO CHANGE WITHOUT PRIOR NOTICE **

Performance Motors Limited

A member of the Sime Darby Group Co. Reg. No. 197401559W. GST Reg. No. M2-0020061-X



supplementary

Estimate No.

b1 55107

Date Estimated :

11/05/2020

Prepared By :

Foong Shiuh Jye

- ESTIMATE REPAIR FOR -

Ang Peng Seong (Hong Mingxiong)

654 Senja Road

#20-258

- ACCOUNT -45912

EQ Insurance Company Limited

5 Maxwell Road, #17-00 Tower Block

MND Complex

Singapore 069110

Singapore 670654

REGN. NO.

CHASSIS NO.

REGN. DATE

MODEL

MILEAGE

SMP3573E

WBAJG120605N752

24/09/2019

X1 sDrive 18i

0

DESCRIPTION

ORIGINAL PRICE

DISC. %

0.00

0.00

0.00

0.00

0.00

NETT

DESCRIPTION	

SUPPLEMENTARY ITEMS

JNIT	PRICE	

1.00

3.75

1.40

26.15

27.85

QTY DISC. %

1.00

10.00

10.00

1.00

1.00

NETT

1.00

37.50

14.00

26.15

27.85

#	EXPANDING NUT	nec-
#	BUMP STOP ne	C/

EXPANDING RIVET BLACK nec /

(DG) CLEANER R1 (100ML) nec

(DG/SL)ADHESIVE PRIMER VP 206 (30ML nec /

Total Labour:

106.50

Total Parts:

Total Labour & Parts:

106.50

Performance Motors Limited

A member of the Sime Darby Group Co. Reg. No. 197401559W. GST Reg. No. M2-0020081-X



Final Report

Estimate No. :

b1 55107

Date Estimated:

11/05/2020

Prepared By :

Foong Shiuh Jye

- ESTIMATE REPAIR FOR -

Ang Peng Seong (Hong Mingxiong)

654 Senja Road

#20-258

- ACCOUNT -45912

EQ Insurance Company Limited

5 Maxwell Road, #17-00 Tower Block

MND Complex

Singapore 069110

Singapore 670654

REGN. NO.

CHASSIS NO.

REGN. DATE

MODEL

MILEAGE

SMP3573E

WBAJG120605N752 24/09/2019

X1 sDrive 18i

0

DESCRIPTION	ORIGII	NAL PRICE	DISC. %	NETT
To replace bumper rear, replace rear boot lid include remove attachment parts to facilitates repairs due to accident.		1,700.00		1,700.00
To respray rear bumper and rear boot lid.		1,805.00		1,805.00
To remove and install rear windscreen glass		574.00		574.00
To conduct water leak tests.		75.00		75.00
To remove and install bootlid smart opener control unit to inspect top and bottom sensor lines due to accident include conduct checks for proper function.	et,	561.00		561.00
To carry out body cavity preservation. (Per panel).		100.00		100.00
To remove old PDC assembly, and reconnect to new bumper including conduct checks for proper function.		150.00		150.00
To check electrical wiring systems and lightings at the rear section for proper function.		150.00		150.00
Sundries.		80.00		80.00
DESCRIPTION	UNIT PRICE	QTY	DISC. %	NETT
BLIND RIVET NUT M6 BOOTLID	2.70 1,236.65	4.00 1.00		10.80 1,236.65
EXPANDING NUT	1.00	1.00		1.00
REAR BUMPER PANEL PRIMED	903.40	1.00		903.40
REAR BUMPER MIDDLE TRIM PANEL (PDC)	265.65	1.00		265.65
EMBLEM GROMMET	0.85	2.00		1.70
BMW PLAQUE WITH ADHESIVE FILM	71.60	1.00		71.60
LETTERING S DRIVE 18I	96.65	1.00		96.65
LETTERING X1	64.45	1.00		64.45
BUMPSTOP	3.75	10.00		37.50
EXPANDING RIVET BLACK	1.40	10.00		14.00
(DG) CLEANER R1 (100ML)	26.15	1.00		26.15
(DG/SL) W/SCREEN SEALANT (COLD 1 HOUR)	131.55	2.00		263.10

Finalised by: Mahamod DID: 63190148 Fax: 64743229

Performance Motors Limited

A member of the Sime Darby Group Co. Reg. No. 197401559W. GST Reg. No. M2-0020081-X



Final Report

# (DG/SL)ADHESIVE PRIMER VP 206 (30ML	27.85 1.00	27.85
# SUPPLEMENTARY ITEMS		
	Total Labour:	5,195.00
	Total Parts:	3,020.50
	Total Labour & Parts:	8,215.50
	Deduction for Excess:	
	Total Repair Costs less Excess:	8,215.50
	GST @7%:	575.09
	Grand Total :	8,790.59
	Loss Of Use=\$100 x 5 days.	
	Load of ode-offoo x 3 days.	
	LTA FEE=\$7.45	